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\setlength{\parindent}{Oem}

\setlength{\parskip}{.5ex}
Within a sectional division the text is Within a sectional division the text is typically broken up
typically broken up into paragraphs. into paragraphs.
Sometimes there may be text that is set off from the nor-
Sometimes there may be text that is set off mal paragraphing, like quotations or lists.
from the normal paragraphing, like quotations
or lists.
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{\raggedright This text is\\ left-aligned. This text is
\LaTeX{} is not trying to make left-aligned. IXTgX is not trying to make each line the
each line the same length.\par} same length.

This text is
right-aligned. IXTEX is not trying to make each line the
same length.

{\raggedleft This text is\\ right-aligned.
\LaTeX{} is not trying to make
each line the same length.\par}
At the centre
{\centering At the centre\\ of the earth\par} of the earth
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B2 #E 2t &7 (environment) 0] ¢t \begin{ 8 Z 0|5} T O =2 A|A5[ A \end{&FO| T} FF o2
eUE d519 482 A= 2 P2 A =Rt A E S HEAd Yo s, detso g
2HEl &g uf LHS A AFE-StT)

42]FHBEE At e PYFE U4 FH B =23 AHEE 2 o 9% FE-2 flushleft €7,
Q2% JEL flushright §7, 22|10 7120 J B2 center 7302 AAY3ict ol2|st & TFHES
gHgol AATE 7] vt 2 Faf ggo] 2 BER Sof offte] HA] ZuRS RIS oA [4.2] T BB S
3t 2te =2 AFo] 7t Qi
\begin{flushleft}
This text is\\ left-aligned. \LaTeX{} is not This text is

trying to make each line the same length.
\end{flushleft}

\begin{flushright}

This text is\\ right-aligned. \LaTeX{} is not
trying to make each line the same length.
\end{flushright}

left-aligned. I#TEX is not trying to make each line the
same length.

This text is
right-aligned. IKIEX is not trying to make each line the
same length.

\begin{center} At the centre
At the centre\\ of the earth of the earth
\end{center}
PAEER 2SN 7bA FElo) e WALS el AE BS54l Al BUCH B2 ThE FHel U wA s
s 4 JAF 22 ISR otk

7P ARHAQl FEjY U E WA 7T g aE ool 3¢t ohEE 20l Aol o2t A2 itemize
gdor theth 2AE PN 52 T4 \item P22 ARSI [43]FF P 0 L5 &
2] 4 & B0l 373e] A5 AT} 8H0] B S0] ko] 4K Bo] 27h2 Sojzict
\begin{itemize}

\item The text in the entries is of any length.
\item Successive entries are separated from one

another by additional vertical spacing.
\end{itemize}

¢ The text in the entries is of any length.

* Successive entries are separated from one another
by additional vertical spacing.

L

\begin{itemize}

\item The label for the first level is a black dot,

\begin{itemize}
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a bullet.

\item That of the second level is an en dash.
\begin{itemize}
\item That of the third level is an asterisk.
\begin{itemize}
\item And the label for the fourth level
is a centered dot.
\end{itemize}

e The label for the first level is a black dot, a bullet.

— That of the second level is an en dash.

* That of the third level is an asterisk.

And the label for the fourth level is
a centered dot.

\end{itemize}
\end{itemize}
\end{itemize}
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2 Aol 3 oh o] HEfe 2 AE B
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o SALAE &2

M4 vhE 4 Ao E9t \item Y

\begin{itemize}[\S]

\item The text in the entries is of any length.

\item Successive entries are separated from one
another by additional vertical spacing.

\item[\P] Each entry may have its own label.

\end{itemize}

§ The text in the entries is of any length.

§ Successive entries are separated from one another by
additional vertical spacing.

9 Each entry may have its own label.

ore] oo A Mool B AE £ 2} FBEL API 25 1402 LpolAlL), o 24 A e &
Aol ufe} grepaict grel 45 2H20] A8 Qi &EF Fejo Yol WasHH AL $3L AR AE
memoir 2227} A 331 \tightlist BY& F =2 S}AL 7| 24 1AM} 52 F0157 Pokel oAl
\tirmlist §FL AHESIH Bek ok ool A £5 7140) Wake gelg 4 9t

\begin{itemize}\tightlist

\item The text in the entries is of any length.
\item Successive entries are separated from one

another by additional vertical spacing.
\end{itemize}

\begin{itemize}\firmlist

\item The text in the entries is of any length.

\item Successive entries are separated from one
another by additional vertical spacing.

The text in the entries is of any length.
® Successive entries are separated from one another
by additional vertical spacing.

The text in the entries is of any length.

* Successive entries are separated from one another
by additional vertical spacing.

\end{itemize}

L

2AE St FE0I0 FAUSH 0 A S 20| = itemize ¥ ©2] enumerate ©F 2 &
L=
o

Ho S 0j7]+=
ofc} ¥ 52 AHE0 2 oA}
\begin{enumerate}

\item The labels consist of sequential numbers.
\item The numbering starts at 1 with every call

to the enumerate environment.
\end{enumerate}

1. The labels consist of sequential numbers.

2. The numbering starts at 1 with every call to the
enumerate environment.

W57} LA RS YALaE Soi ] 7

rlo

\begin{enumerate}
\item Arabic numerals at the 1st level.

the ollet 2ol S48

UAlo] wat watslc,

\begin{enumerate}

\item Lowercase letters at the 2nd level.
\begin{enumerate}

\item Roman numerals at the 3rd level.
\begin{enumerate}
\item Capital letter at the 4th level.
\item The label style can be changed.
\end{enumerate}

\item Back to the 3rd level.
\end{enumerate}

\item Back to the 2nd level.

\end{enumerate}

1. Arabic numerals at the 1st level.

a) Lowercase letters at the 2nd level.

i. Roman numerals at the 3rd level.
A. Capital letter at the 4th level.
B. The label style can be changed.
ii. Back to the 3rd level.

b) Back to the 2nd level.

2. We are at the 1st level again.

\item We are at the 1st level again.
\end{enumerate}
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memoir 22 A W57} 7155 WA 47 U] 4 L5 S enunerate E1730] SAQIALS & 4 9lr}
SHRO] A EL ' 2 20H 247F bl ChRA B A BAI2 Wso} BY|H0 20 SA12 E7]E
WEZ Sl T 1 Au Hr) SMQIAN 1 RR of2ujof 2112 H7|5)= HE S A 4 lrk
of thAl 7HA] o]Q]of k& AT B 2t P U= "
\begin{enumerate}[I.] I. The first entry.
\item The first entry. \item The second entry. II. The second entry.
\end{enumerate}
\begin{enumerate}[\lbrack 1\rbrack] [1] The first entry.
\item The first entry. \item The second entry.
\end{enumerate} [2] The second entry.

\begin{enumerate}[\hspace{3em}a)]

\item The first entry. \item The second entry. a) The first entry.

\end{enumerate} b) The second entry.

e E7] WS R oA ZER 2R (1) 3 2] FR S oto] Sol7fe Ws ot ALS0 2 A A|A
Shch Eal o]2fal Tl 7Hx] BRHS 0l FHalA of3 FoIAlE 29 74 hx|oto] ke 2ol s
Yo mrlyygos O ot o {-o5ta}.

oblivoir 2 AL o]0l = 2 LA PN I WS FA FAL F712 AT 12T 2L B
719l & QUALE enumerate T30 A £ > QUTE T, 0D’ = shHQ] ZALR Al 7le] ZAFQ1 “(71) <F Ur—‘:}-
(7L O.0.@6 i.1.71.0.8.0.6 |
\begin{enumerate}[D]

\item Z{A| CHAH % OFO|& Q FA] @A AA] ofol&l
\begin{enumerate}[(f] i}

\item SA T2 3R Ofo|gy o & A S ofel D
\item = CtAH =% O}O|& W =R DA = otol=l
\end{enumerate} N

\iten X7 T S OfoI .
\end{enumerate}

memoir 2 A7F Al 55 \tightlist Y \firmlist YJS ALESH 55 Ato]of 24 M4 S &
ol A= A 7hsstt

\begin{enumerate}[{1}.1] 1.1 The first entry.
\item The first entry. \item The second entry. 1.2 The second entry.
\end{enumerate}

\‘F)egln{enuxr{erate} [\bfse.rles AaTil.] 11111. The first entry.
\item The first entry. \item The second entry.

\end{enumerate} 22222. The second entry.
\begin{enumerate}[\textsurd$~1$]\tightlist L

\item The first entry. \item The second entry. \/2 The first entry.
\end{enumerate} \? The second entry.

WaE o] ol Tk a e T B 1 RE ASHSHR| g S0l met kgt 2 e g o2 Alat
SHo W22 0hE 5 ok W \iten BYo] OJ5) shp¥ Z7te| D2 ARl WsuTh sht ALe 32
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Zofo} gheh Aol §-0] 5tk

(1A
\setcounter{enumiii}{=Z}} (3 @A)

\setcounter{enumi}{xA}}

\setcounter{enumii}{xA}} 2 &
\setcounter{enumiv}{XA}} (4 &A))

A

\begin{enumerate}\setcounter{enumi} {10}
\item The first entry in the 1st level.
\begin{enumerate}\setcounter{enumii}{1}
\item The first entry in the 2nd level.
\item The second entry in the 2nd level.
\end{enumerate}

\item The second entry in the 1st level.
\end{enumerate}

F

R R

2 a Ao ol 27 %
o AA 40
inparaenum 3t A =}
= QoM =S LtEst R} FHCt,
\begin{inparaenum}[ 1)]

\item A}2}, \label{apple}

\item Hf, 2|12

\item £%0t, \label{peach}
\end{inparaenum}
O mf At} HS &=
S50t

\ref{apple})' 0|2
= “\ref{peach})'O|Ct

\begin{description}

\item[Stupid] things will not become smart
because they are in a list.

\item[Smart] things, though, can be presented
beautifully in a list.

\end{description}

tlo

memoir 22| A= blockdescription ¥73

273 o] 95l blockdescription 732 S50 2 7|
55 Abolo] 4] A2 £735H= \tightlist J

\begin{blockdescription}\tightlist

\item[Stupid] things will not become smart
because they are in a list.

\item[Smart] things, though, can be presented
beautifully in a list.

\end{blockdescription}
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11. The first entry in the 1st level.

b) The first entry in the 2nd level.
¢) The second entry in the 2nd level.

12. The second entry in the 1st level.

2] AE 2 37 enumerate= Zf T EES
N 0] 80] Lp0] Al x| 9H= emumerate £7-2
A \u sepackage{paralist} HyPoz paralist 7] %2 2.2 o}2, enumerate 7 T4l
. oblivoir 2] 2 0] A= paralist T} A1 xob-paralist 7] x] & 2= Zi0] £C}.

HE o] s§o g w5yl 8] Ato]of 44
S At Q7 9lct

T QoM gEg st uat gick ) Abah u) ul, 3
2]il ©) H3of o] f AFhe] M5 = 1) 0]l Hgoh=
‘©)olth

Stupid things will not become smart because they are in
a list.

Smart things, though, can be presented beautifully in a
list.

Stupid things will not become smart because they
are in a list.

Smart things, though, can be presented beauti-
fully in a list.
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AP AGTUFAF 7 L olR 5L quote E = quotation BH 0.2 BETE £ £ Aol B
=0 22710]] Jltt. S0 27| E 5HA] ¢ quote 70l RIS S0I227]S = quotation 732 o3 =Ho|
AR JAEw2 AT o] = 20
A typographical rule of thumb for
the line length is: A typographical rule of thumb for the line length is:
begi t
\begin{quote] . On average, no line should be longer than 66
On average, no line should be characters
longer than 66 characters. '
\er.ld{‘.lu‘)te} This is why IATEX pages have such large borders by de-
This is why \LaTeX{} pages have such large fault and also why multicolumn print is used in newspa-
borders by default and also why multicolumn pers.
print is used in newspapers.
872 22 U opx|ste] EHE Chs 297t ok memoir 2HAL EAE A HE 4 dEs
\sourceatright{...} §3& A&ttt
\begin{quotation}
This quotation has a short last line so there
is enough space for the source to be set at the This quotation has a short last line so
end of the line.\sourceatright{I. M. Short} there is enough space for the source to be
\end{quotation} set at the end of the line. 1. M. Short
\begin{quotation} The last line in this case turns out to be
The last line in this case turns out to be too long for the source to be set at the end,
too long for the source to be set at the end, so it is set flushright on the following line.
so it is set flushright on the following N. O. Space
line.\sourceatright{N. 0. Space}
\end{quotation}

oz, 181 7t de N2 e B AR ¥ 2 TR memoir

7 e A EukE 5E 0\
Sej At ohe oot o] gl YEO] verse A7 S A BT SHAURIT} verse B0l Zox| o] 212
c}.

\PoemTitle*{A Limerick}

\begin{versel} [5cm] A Limerick

There was a young man of Quebec \\

Who was frozen in snow to his neck. \\ There was a young man of Quebec

\vin When asked: “Are you friz?' \\ Who was frozen in snow to his neck.

\vin He replied: “Yes, I is, \\ When asked: ‘Are you friz?’

But we don't call this cold in Quebec.' He replied: “Yes, 1 is,

\end{verse} But we don't call this cold in Quebec.
{\raggedleft\footnotesize From ‘The Memoir Class User Guide’

From “The Memoir Class User Guide'\par}

AlQ] Al Z-E \PoenTitlex{...} WO 2 D& 4 QIck olat o1 Aol = ¥l 52 sh} 2o & w|x|gt &
0]

_/"1
HI1E2 wwa 2] YsiA "\ & £ 4 Qloh
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\PoemTitle*x{7HO{ 2}
{\raggedleft Z & E\par}

\begin{verse}
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411 A|  Project Gutenberg (http://www.gutenberg.org) SHO]X|= T}# 2 C 3145 HIEFO 2 "Top 100

EBooks last 7days’ & “Top 100 Authors last 7 days’ At 22 Al&-3tch o] 5 AFR oA 1Y 2E] 1047HA] &5
S-S o3 I} o] 2astet. opA| gt A2 = "Top 100 EBooks last 7 days’ of|A] 1915 St A 9] “Bibliographic
Record’ & description 173 0 2 QU= Zo|tt,

Top 100 EBooks last 7 days
[Rank 1] The Song My Paddle Sings by E. Pauline Johnson (6288)
[Rank 2] The Kama Sutra of Vatsyayana by Vatsyayana (4933)

[Rank 3] How to Analyze People on Sight by Elsie Lincoln Benedict and Ralph
Paine Benedict (4521)

Top 100 Authors last 7 days
V' Dickens, Charles (17156)
V' Doyle, Arthur Conan, Sir (15850)
v Twain, Mark (14048)

The Song My Paddle Sings by E. Pauline Johnson
Author Johnson, E. Pauline, 1861-1913
Title The Song My Paddle Sings
Language English
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